TTH Full SimUIation Stlldy RepOI't Ryo Yonamine ( 2011. 11. 25 )
Status

We have tried to find isolated lepton and check the performance in ttH events.

1. Find (isolated) electrons / muons using
- E-CAL energy / Total CAL energy
- Total CAL energy / momentum (——>Will be replaced PFA PID in the future)

2. Take isolated one using
- cone energy vs energy



Isolated lepton finding (1)
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ECalE/TotalCalE is required
- less than o.5 for muons
- more than o.9 for electrons.



Isolated lepton finding (2)
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TotalCalE/momentum is required
- less than 0.3 for muons
- more than 0.8 for electrons.



Efficiency and Purity

definition of efficiency here :
reco7— % D% F L\ Tisolated electron/muon & FRE S 1. M D EFNH(mclBEHRZ AW TR Do) AL Disolated electron/muonTH > I2iHZE DD EE Z. (mcFH %
BWTK o)A Disolated electron/muon & FBE S NICHDEET TEI -2 H D,

definition of purity here :
recoT — % DA% A\ Tisolated electron/muon EFWE 1. B D ENH(mclEEZ AL TKO fo) A ZH Disolated electron/muonTHh > 1oIHEDBDEE 2. recoT—%

D &% B\ Tisolated electron/muon & ZaE S NTCHDEETTEI - 2 H D,

efficiency purity

isolated electron 0.84 0.59
isolated muon 0.92 0.59
isolated electron/muon 0.88 0.59

Plan
- Investigate the reason that purity is low.



